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QUESTION 1

An OSPF router does not have a router ID configured.

In this scenario, which statement is correct about the router ID?

A. The Junos OS will use the IP address assigned to the interface with the lowest MAC address.
B. A router ID will not be assigned until it is manually configured.

C. The Junos OS will use the IP address assigned to the loopback interface for the router ID.

D. The Junos OS will use the IP address assigned to the Interface with the highest priority.

Correct Answer: B

QUESTION 2

Exhibit Referring to the exhibit, internal BGP between R1 and R2 is not establishing. What is the problem In this
scenario?

userfRl> show bgp summary

Threading mode: BGP IS0 I
Default =2BGP mods: adwvertise — accept, recsive — accspt
Groups: 1 Peers: 1 Down peers: 1
Table Tot Paths Act Paths Suppresaed Histocry Damp State Pending
AliET . W
H a
Peer AS InPket OuktPkt outg Flaps Last Up/Dwn
state|fhctive/Feceived/Acceprad/Tamped. . .
| 162.168.200.2 Eq4512 u] L i u] 1:01 Rctiwve

r@R1> show conflguration routing-options

L3

(3 M

f autonomous-system 64513;
ugser@Rl> show configuration protocols
1 ogp {
group Intermal |

type internal;

local-address 192.168.200.1;

neignbor 192.168.200.2;

A. R1 does not have a route to 192.168.200.2.
B. R1 and R2 must each have unique AS numbers.

C. R1 needs to be configured with an explicit router ID.
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D. R1 needs to be configured with a next-hop self policy.

Correct Answer: A

QUESTION 3

Exhibit

13erfR1l> 3how vIrp Summary

Interface State Group VB s=tate VR Mode Type Address
ge—-0/0/4.0 up 1a master Active 1lel 172.25.100.2
vip 172.25.100.1

uzer@R2> show VIIp SUmNmMary

Interface 3tate Group VR =ztate VE Mode TYpe Address
ge-0/0/4.0 = 10 masztar Active 1el 172.25,100.3
vip 172.25.100.1

Referring to the exhibit, which statement is true about VRRP?

A. VRRP communication between the two devices is not functioning correctly.

B. Both routers are in the same state because they have the same VRRP priority.

C. RRP Is functioning normally in active/active mode.

D. The routers should use different virtual IP addresses for VRRP to function correctly.

Correct Answer: D

QUESTION 4

Exhibit
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ISP B
(AS 64513)
.\
LY
“ ISP C
\ (AS 64514)
b L !
b % L
. i "\ 203.0.113.0/24 is reachable
N \ through AS 64514
LY %
Vi R2
LY
- AS B4512
203.0.113.0/24 is reachable “L) 'BGP
through AS 64513
R1 R3

You want the R1 and R3 routers to forward traffic destined to the 203.0.113.0/24 network through R2. Which BGP
attribute would you modify to satisfy this requirement?

A. community

B. origin

C. MED

D. local preference

Correct Answer: C

QUESTION 5

Exhibit
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M\ Exhibit &

Ethernet header
IP header
TCP header
Payload

R3 R4

Service Provider MPLS Core

Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network
from Site 1 to Site 2 as shown in the exhibit? (Choose two.)

A. R2 will perform a lookup using the mpls.O table.
B. R1 will perform a lookup using the Inet.3 table.
C. R1 will perform a lookup using the mpls.O table.
D. R2 will perform a lookup using the inet.3 table.

Correct Answer: A
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